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IDC

2004 2006
2005 2006

66 116

1~2



4
A2 Ao
A3 A3
1

CD/DVD CD DVD
IEEE1284 IEEE1284
|EEE1394 scsl IEEE13914
USB1.1 USBL.1 1
USB2.0 USB2.0 1
LAN LAN 1

LAN LAN 1
PC PC




A3 A3
CPU CPU
IEEE1284 IEEE1284
USB1.1 USBl.1
USB2.0 USB2.0
LAN LAN




2004 Q1 2006 Q2 2004 Q1 2005 Q2

35,004.5 56,669.8

dpi 4,830.9 3,912.1

dpi 1,361.8 1,226.8

ppm 175 18.2

ppm 147 13.2

1,312.0 1,485.0

421.8 426.3

163.0 196.5

4.9 4.9
4 63.6% 55.3%
A2 3.0% 8.5%
A3 18.2% 25.5%
28.8% 29.8%
74.2% 80.9%
39.4% 34.0%
CD/DVD 21.2% 12.8%
18.2% 34.0%
IEEE1284 18.2% 23.4%
IEEE1394 4.5% 8.5%
USB1.1 100.0% 46.8%
USB2.0 98.5% 72.3%
LAN 9.1% 6.4%
LAN 7.6% 8.5%
PC 4.5% 6.4%
15.2% 8.5%
33.3% 38.3%
19.7% 17.0%
25.8% 19.1%
Lexmark 12.1% 8.5%
Phaser 0.0% 4.3%
Ricoh 9.1% 12.8%
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100%




2005 Q1 2006 Q2 2004 Q1 2005 Q2
168,683 186,867
dpi 2,062.5 3,274.0
ppm 30.3 30.0
ppm 13.3 12.0
MB 113.8 94.1
604.3 621.4
A3 53.4% 52.9%
24.1% 34.6%
59.5% 58.7%
34.5% 34.6%
CPU 94.0% 92.3%
69.0% 62.5%
IEEE1284 72.4% 80.8%
USB1.1 92.2% 98.1%
usB2.0 85.3% 81.7%
LAN 69.8% 62.5%
3.4% 1.9%
6.0% 5.8%
3.4% 1.0%
DELL 1.7% 0.0%
12.1% 16.3%
6.0% 4.8%
0.9% 4.8%
11.2% 12.5%
IBM 0.9% 0.0%
5.2% 5.8%
2.6% 3.8%
Lexmark 5.2% 0.0%
NEC 4.3% 5.8%
8.6% 12.5%
Phaser 3.4% 2.9%
Ricoh 15.5% 11.5%
2.6% 0.0%
6.9% 10.6%
116 104
1.
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100%




2004/Q1 2006/Q2 ( ) 2004/Q1 2005/Q2
Box-Cox -0.159 0.315
Box-Cox Box-Cox
-37.384 -1744.080  «~
( 39.026 1389.900
Box-Cox -0.919 -0.770
1.932E-04 « 4.717E-03 »
Box-Cox 1.095 1.508
A3 0.130 == 13.915
IEEE1284 0.065 10.727 ~~
USB2.0 e 6.927
LAN — 9.760  ~~
PC _— 9.187 <
—_ 24.829
A —_ 12.040 ~
0.087 23.206
C -0.153 —_—
04 —_
05 —_
05 -0.107
06 -0.081 =
04 2 —_
04 3 o
04 4 -6.526
05 1 —_—
05 2 —_—
0.770 0.940
0.738 0.921
66 47
5.042 89.568
0.079 7.006
1.*** 1% ** 5% * 10%
2. White
3. 04




2005/Q1 2006/Q2 ( 2004/Q1 2005/Q2
Box-Cox 0.177 0.216
Box-Cox Box-Cox
22472 = 35.368 =
5.953E-10 == 0.142
Box-Cox 6.420 1.243
0.070 1.653E-04
Box-Cox 0.551 1.507
0.154 =~ 0.369 =
2.739 == _—
Box-Cox -0.146 —_—
A3 2.287 = 2.443 =
1239 = 2.065 =
IEEE 1284 1.157 = _—
—_ 3.141 =
—_ 1.894 =
A _ 3.326 =
B _ 4.607 ==
C _ 7.709 =
D -3.489 = _—
E -6.314 = _—
05 2 —_
05 3 —_
05 4 -
06 1 —_
06 2 —_
04 2 _
04 3 _
04 4 _—
05 1 —
05 2 —
0.881 0.868
0.870 0.854
116 104
40.175 56.253
2.183 3.701
Lowwx 106 *% 5% * 10%
2. White
3. 05 1
1




66)
2004 1Q 2006 2Q
Box-Cox 2o -0.159 -0.021
Box-Cox Box-Cox
-37.380 8.892 == 7112 == 9.860 =-| 17,318.320 -~
( + ) 39.030 - 6.812E-05 - 0.297 = 8.431E-05 - 2.244
Box-Cox -0.919
1.932E-04 - 0.001 - 0.203 - 0.002 - 77.360 -
Box-Cox 1.095
A3 0.130 = 0.518 = 0.648 - 0.649 =-| 28,495.697
IEEE1284 0.065 = 0.174 0.361 = 0.216 7,062.381
A 0.087 = 0.116 0.275 0.145 5,524.369
B -0.153 == -0.709 -0.745 - -0.866 | -10,895.695
04 _ _ _ _ _
05 S S S S S
05 -0.107 - -0.429 - -0.543 - -0.532 =+ |-16,011.207 ==
06 -0.081 -0.185 -0.359 = -0.229 -8,517.563
0.770 0.698 0.711 0.696 0.594
0.738 0.655 0.670 0.654 0.537
5.042 9.160 10.198 10.198 35,004.550
0.079 0.360 0.437 0.448 17,530.000
-701.009 -708.840 -707.270 -708.853 -733.742
Box-Cox 15.662 == 12523 == 15.688 == 65.466 -
M=hg=1 Ag=hy=h,=0 =00 =h=1 Ag=hy=ho=1
Box-Cox 0.027 49.805
A=0 Ao=1
1.*¥*%*% 1% ** 50 * 10%
2. 0 Box-Cox
3.
4. 2(logL,-logL,) logL, logL,
o
Box-Cox
Box-Cox Box-Cox
5. 04




( )
( 116)
2005 1Q 2006 20Q
Box-Cox N 0.177 0.226
Box-Cox Box-Cox
22.470 36.350 7.033 = 10.140 ~+| -79,503.870
5.953E-10 0.339 = 0.359 0.025 = 2,929.890
Box-Cox N 6.420
0.070 = 0.006 0.368 4.226E-04 62.720
Box-Cox A 0.551
2.739 0.009 0.183 0.001 - 126.720 *
Box-Cox As -0.146
0.154 == 0.334 = 0.015 0.023 = 3,776.070
A3 2.287 = 3.905 = 0.247 0.260 =~ 49,463.010 -
1.239 = 3.275 = 0.164 ~ 0.239 =+ 33,205.360 *
IEEE 1284 1.157 = 1971 -~ 0.152 = 0.118 27,839.260 *
A -3.489 -7.393 -0.610 -0.679 [ -16,620.320
B -6.314 - -12.628 = -1.053 -1.156 [ -38,086.390
05 2 _— _— _ _— _—
05 3 _— _— _ _— _—
05 4 _— _— _ _— _—
06 1 _— _— _ _— _—
06 2 _— _— _ _— _—
0.881 0.845 0.861 0.840 0.772
0.870 0.832 0.849 0.827 0.752
40.174 59.976 11.779 11.779 168,682.500
2.183 4.426 0.301 0.322 57,340.000
-1374.543 -1389.263 -1386.312 -1394.187 -1,430.353
Box-Cox 29.440 23.538 39.288 111.620
=h=he=1 A= M=A=he=0 2=0A==he=1 A= M=A=he=1
Box-Cox 0.848 82.180
=0 Ao=1
1.*** 1% ** 5% * 10%
2. 0 Box-Cox
3. 2(logL-logLy) logL, logL,
7
Box-Cox
Box-Cox Box-Cox
4, 04
1 0




